[ Two Coin Toss]

¢ Throw two coins at the same time and observe how they apper on the front and back.
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Touch the screen five times to activate.

Touch the screen again to stop the auto.
If you touch it further,it will be initialized.
When the screen goes dark,touch the title bar !
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[Outline]

You can observe how the front and back appear when two coins are thrown at the same time.

What is the ratio of both of them in the table ?

If you have conducted many experiments to throw two coins at the same time , and if you
increase the number of experiments , what can be said about the ratio of both coins in the table
compered to when the number of experiments is small ?

Also , let's mathematically find the probability that both are front , the probability that both

are back , and the probability that one is front and one is back.



